=5 29 AR

=i

=

@ 5 ® 13 @ 24 ® 36

® 3



T a,b7F AR A7

©
=]

Fol o

S

AR TFE 5 A4 a,bol o

2.



3.  H&E FolA F T ARAR] AR2Y

@ (14, 22) @ (21, 49) ® (27, 72)
@ (15, 58) @ (2, 20)



4. e F T 47t ARaT)obd Re?

® 13315 @ 19 9} 21 ® 16 <} 27
@ 52} 30 ® 7711



ojn

@ 8,12 ® 10,20

® 4,10

@ 3,7

D 2,6



= %24 MR e BF AL

3,4,5,6,7 9,10

® 174 @ 27 @ 37 @ 4 7 ® 574




S Z 83t A2 AT} obd ALY

@ 3 @ 5 A 6



= 24 oAM=

=i

=

8.

@ 12 @ 18 @ 21 ® 25

® 8



® 7 15



10. ¢

o =
=R

@ 2

12 9F 24l =7

@ 3 ® 4



11. o2 5 5 F7FAZAQ] A2
@ 15924 @ 8115 ® 14 2} 35

@ 36 T} 54 ® 226



12. s+ 3 A=

o
ro
poV)
N
)
I8
B
<
R
Y,
rlo
-9

® 9721 @ 9918 @ 12 130
@ 12 935 3 24 3} 42



13. o= 5 =49 A2?

@ (14,21) @ (36,72) ® (8,90)
@ (11,121) ® (9,19)



© 5Bt 2310 Bk FL A5 F 4 9 ARLQ S
)
BA .

® 00 ® 0,00 ® 6,6,
@® 9,066 ® 9.0,







® % AQ%7} Az Lol

_‘_':_
@ A5 H2A7F oI T AASE

® 10 Ho} 22 2pd g FolA 2 4 7H 0]



17. o= A% T 4 92 A2?

@ 249] o459 A% 2 Aol

@ 79 Hig FAA 2 170l



o|J
S
9|

ol
Nfo

ojn

ol

® F 47k Mol



o|J
S
o}J
ol
Nfo

ojn

= Azaoltt

@ 6 721

@ 3,5, 7, 9= 250t

+= 3 7Rolch

e

—_—

q

o

® 20 9



20. H= T &A1 @2 A2

@© 8 1} 27 & A 240t}
@ 12 9] &914+=2, 3 o]t}

@ &po] of9 g 2 AolH



ol 27 345 o] 2

273

o]

@ 6 ® 8 @ 9 ® 10

@D 4



22. o5 0, 09 =9 HAdFATE A= A2 A2
@ 33,121 © 39,65
@ 3,18 @ 11,15 ® 33,13

@ 11,13 ® 11, 39



23. [ [oto] dte £ A2 AT AL?

189] 291283 : [2)x[3]x[ ]
249 2915838 : [2)x[ |x[2]x[3]
Aok [2)x[ ]

® 2,1,2 @ 2,3,3 ® 3,1,2 @ 3,2,2 ® 3,2,3



ol

o|J
o8

olg
Nfo

ojn

@ 12,30,72 o Hhgt5L 6 o,

@ 18,32,84 2]

® 24,52,108 o] HhF = 4 |},
@ 16,48,120 O] HF e 8 olrh

® 9,36,96 °] i



25.

thg B7)9] 50 HYBesE A2 eutadA 73 527
[11]
H7]
@ 32,120,144 © 18,126,150 © 24,60,168
® 4,6,8 @ 6,12,24 ® 8,6,12
@ 8,12,24 ® 12,6,12




26. 2°x32x52 108 9 FHFF5=?

D 2x3x5 @ 22x32x5 @ 22 x3x52

@ 23x32 ® 22x3?



27. Al 572,84, 22 x 32 o] A FFrE?

@ 2% 3 @ 24 ® 22x3
@ 18 ® 2x3



28. o[ ot BolZ £E AUE 18 A7

()22 x3,2x 32 x 52,22 x5x 7 9] F|of-5-F
(L) 2x5x7,2%x3x52,22 x52 o] Z|o)-5F

=

@D 2x3,22x5 @ 2,2x3
@® 2x3x5,2x5 @ 2,2x5

® 2x3,2%x7




tol Al 4= 15, 45,90 9] 2| di-52F4E Fo1H?

273

o]

@5 ® 9 ® 10 ® 15

® 3



30. TR E 5 4 22x3x52x7,2x32x5x11 9 HAYFers F6HH?

@D 2x3x5 @ 22x%x32x52
® 2x3x5x7x11 @ 22x32x7x11

® 22x32x52x7x11



31. o F ATALE 79L 0,

2974

D 12, 18
® 14, 20

® 23x3,22x32,2x32x7

@ 24, 32

@ 22x3x%x52%2%x32x5



126

108

@ 22x3 @ 22x32

® 2x3

® 2x3?

@ 2x 32



33. 108,135 9 g FE?

@22 @33 @23

@ 3x5 ® 22 x 32



34. 24,32 o AhFoFE?

®22 @32 @23

@ 22x3 ® 2x3



35.

Al ZHA4 8, 12, 16 o] ZHEefeE?

® 2 @ 4 ® 6



36. 3%2x52x73 21x32x5% 9 HfFerye=?

O 22x3? @ 5x7? @ 23x32x7

@ 22x3x7? ® 32x52



37. Al 4 22x32x52%, 22x33x5, 25 x 34 x5 9 HUFeFsE?

@ 23 x 33 x 52 @ 22x32x52 ® 22x33x53

@ 23x32x5 ® 22x32x5



ST Lok A L
38. A& 22x33x7, 23x52x7, 23 x5 x 73 9 HY T

O 23x53 @ 23x32 ® 32x52

@ 22x7 ® 33x73



39. 90, 2' x3 x5 o HfFFFE?

D 2x3x5 @ 22x32x5 @ 22 x3x52

@ 23 x3x52 ® 23 x32x52



40. 5 22x 877,20 x 32 x5 O AF4E T2

O 22x32 @ 22x33 ® 22x33x5

@ 25x33x5 ® 25x35x7



41. Al 4 23x3x5,22x32x5, 22 x 33 x 52 9] FjLok4L9

D 22x33x52 @ 23x32x5 @ 22x3x5

@ 22 x 32 x 52 ® 22x33x53



42, Al 22 x3x52,22x33x7, 23 %33 x5 9 HYFgeFs=?

@ 22x33%x52x7 @ 22%x32x5
® 22x3x5 @ 22 x 32

® 22x3



43. Al 548,72, 23 x 3 x5 o] HdFFyE?

@ 2% 32 ® 23%3 ® 22x32

@ 22x32 ® 2x3?



44. Al 4250, 360, 960 ] X FFE?

@ 2 @ 2x5 ® 2252

@ 2x3x5 ® 22x3x5



22%x3x5, 22x3x%x7

14

@ 10 @ 11 12

@ 8



46. 4 2x5Y, 2 x5 xT O] HTJgORT} 28 x50 A, m O] gL

@1 @ 2 ® 3 @ 4 ® 5



47. FF20x 7T x 113, 20 x 52 x 117 o] g7t 88 W, a + b
27

@1 @ 2 @ 3 @ 4 ® 5



48. T 423 %30 x 77, 20% 30 x 74 O] 5Tt 22 x 32 x 72 A 1,
a+b+c o FH2?

D 2 @ 4 ® 6 @ 8 ® 10



49, T 5 29%x33x52x 7%, 24 x50 x 75 x 114 9] HFeF47t 280 A o,
a+b+c o e

D 5 @ 4 ® 3 @ 2 ®1



50.

e Al 429 x 32 x 72 x 150, 2° x 3P x 52 x 73, 24 x5 x 7 x 54 9]
A5k 7E 23 x3x 70 D W, (a+ b+ c) xd 2 F2?

@ 3 @ 5 ® 8 @ 9 ® 12



51. 200 7 2% x x o] Higof7E 20 & o, x o] F54h2?

@ 5 @ 4 ® 3 @ 2 ®1



ol
BN

15

@ 3 ® 5 @ 10

1



@ 5 ® 7 @ 10 ® 15

@ 3



op

B=2x33x53x11

22x32x5x7,

A:

@ 18 ® 21 @ 30 ® 45

@ 6



55.

93 % 3x 5, 22 x 52 O] TOFAT} 2

D 1

@ 22
@ 52

G 22x5



56. w5 Al 496, 120, 150 o] FoF4=?

D 2x5 @ 22 ® 32

@ 2x3 ® 2x3x5



57. % 30.759] Bop7k x 9] oFet B o), x 9] S F5HA?

@ 11 @ 12 ® 13 @ 14 ® 15



@ 24 ® 56 @ 72 ® 120

D 16



59. T AU A, B O] AGTHIE 42 A 1), ThE 4 91 B 9] FoF47
obd 7127

D 3 @ 6 ® 14 @ 21 ® 28



ol
BN

12

@ 3 ® 5 @ 6

1



61.

= A 24 x3x 52, 2x52 9 &

AL=A?(EE 37H)

@ 22

@ 22x5

@ 2x5

© 2t x 352

o



62.

Al A4 23 x 32 x 52, 22x3%3 x5, 29x32x79 F
A2

@1 @ 2x3 ® 18

@ 22x3x%x5 ® 22x32

oF
QF

=

oy

— v



63. T2 H7] = A A4 23 x 32 x 5%, 22x33x 72, 24 x32x11 9
FoFrE 2 QI

H7

2x3, 2x3%2x5 22x3x5
22%x3%, 22x3x7, 23x32

@ 174 @ 274 @ 37 @ 47 ® 57



64. 23x32x7, 210, 252 9] LoF47) ofd ALY

D 2x3 @7 ® 14
@ 21 ® 2x3x5



65.

=
N

].

%9,
fr
" ore,

9

4 A, 54, 126 ©] )
o

o 1

® 36

THFt 8L W, e T A E 5

@ 90

® 144



66. Al A% A, 63, 105 o HEF5Tl 21 A o), hS F A 7L 2 5

)

O 20 @ 24 ® 44 @ 64 ® 84



67. o= T Al 5108, 144, 162 o] FFE?

O 22 x3? @ 22x5 ® 2x 32

@ 2x33 ® 22x3



68. T A SHE S AGTART 12 A o, Tk F A 9 B o] BTt
opd 7127

@1 @ 2 @ 3 @ 4 ® 5



69. T A9 B o A
V%

310
FoF

7k 20 A o), e F A 9B 9 B

2~ 0
T e



ol
BN

1

@ 3 ® 5 @ 15

O 2



@ 8 ® 13 @ 16 ® 24

@D 4



72, 23x32x52, 2x32x7, 180 o] FoF47} ofd A&7

@ 3 @ 22 ® 6
@ 9 ® 2x32



=4 23x3x7x11, 60 9

73.

@ 35 ® 48 @ 51 ® 64

O 28



74. 5 ZAFa, b O] HYFFFE= 24 O[T} a, b, 32 O] FFFE BT
“FotH?
D1 @1,2 ® 1,24

@ 1,2 4,8 ® 1,2 4,8, 16



75. M AAE 72, A, 84 o Hlgefrt6 4 W, th= S A o] #te] 2

2~
T Y= ALY

ON] @ 18 ® 24 @ 30 ® 42



olJ

ol

o7
<

—

Al 4= 30, 60,80 2] 524 ol

76.

@ 5 ®7 @ 10 ® 17

® 3



T7. T A4 23x3x%x5, 22 x5% 9 FoF7}
D 22 .
@ 22x5

3 23 x 3 x 52



78. o

22 x 32 x 57,22 x 3% 5 9 FFTt ofd A2?

oo
ofx

D 2x 32 @ 2x3 ® 2x3x5
@ 15 ® 20



op

@ 2 ® 4 @7 ® 14

D1



o|J
i
ol

I oe 5 &

9]

2FA% a, bl A

AR F 47} 249

80.

=
-

D 1,2 2

@ 102 a,b2] FF7F oyt

a,b 9] ForZolct.

S
1

® 3,6, 8, 36



